
 

 

#Important problems on properties of  

Definite Integration 

          Answer 

1.  ∫ (cos 𝑎𝑥 − sin 𝑏𝑥)2  𝑑𝑥
𝜋

−𝜋
   → 2𝜋 +  

sin 2𝑎𝜋

2𝑎
−  

sin 2𝑏𝜋

2𝑏
 

2. ∫
𝑥

1+sin 𝛼 sin 𝑥
𝑑𝑥

𝜋

0
    →

𝜋

cos 𝛼
 (

𝜋

2
− 𝛼) 

3. ∫   |𝑥 cos 𝜋| 𝑑𝑥
3

2
0

     →
5𝜋−2

2𝜋2  

4. ∫   
cos 𝑥

1+ 𝑒𝑥

𝜋

2
−𝜋

2

 𝑑𝑥     → 1 

5. ∫
𝑥2

1+5𝑥

2

−2
 𝑑𝑥     →  

8

3
 

6. ∫   
𝑙𝑜𝑔|1+𝑥|

1+𝑥2

1

0
 𝑑𝑥     →  

𝜋

8
log 2 

7. ∫
1

1+𝑒𝑠𝑖𝑛𝑥  𝑑𝑥
2𝜋

0
     → 𝜋 

8. ∫ 𝑙𝑜𝑔
1

0
 |

1

𝑥
− 1|  dx    → 0 

9. ∫
𝑥

𝑎2 𝑐𝑜𝑠2 𝑥+𝑏2𝑠𝑖𝑛2𝑥

𝜋

0
 𝑑𝑥   →

𝜋2

2𝑎𝑏
 

10. ∫
𝑥 sin 𝑥 cos 𝑥

𝑠𝑖𝑛4𝑥 + 𝑐𝑜𝑠4𝑥

𝜋

2
0

 𝑑𝑥    →
𝜋2

16
 

11. ∫  
1

1+√cot 𝑥
 𝑑𝑥

𝜋

3
𝜋

6

     →
𝜋

12
 

12. ∫  
𝑒cos 𝑥

𝑒cos 𝑥+ 𝑒− cos 𝑥  𝑑𝑥
𝜋

0
    →

𝜋

2
 

13. ∫ 𝑐𝑜𝑡−1(1 − 𝑥 + 𝑥2) 𝑑𝑥
1

0
   →

𝜋

2
− 𝑙𝑜𝑔2 

14. ∫   cos 𝑥 log (
1+𝑥

1−𝑥
)  𝑑𝑥

1

2
−1

2

   → 0 

15. ∫ log(1 + cos 𝑥)  𝑑𝑥
𝜋

0
    → −𝜋 log 2 


